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QUESTION 1

Given: 

1.

 interface Movable { 

2.

 void move(); 

3.

 void stop(); 

4.

 } 

Which is valid? 

A. public class Bicycle implements Movable {public void move() { /*...*/ }public void stop() { /*...*/ } 

B. public class Bicycle implements Movable {void move() { /*...*/ }void stop() { /*...*/ } 

C. public class Bicycle extends Movable {public void move() { /*...*/ }public void stop() { /*...*/ } 

D. public class Bicycle implements Movable {public void move() { /*...*/ } 

Correct Answer: A 

 

QUESTION 2

Which environment has the highest probability of properly supporting an applet? 

A. mobile environments using telephone handsets 

B. Internet environment where client components are not standardized 

C. J2EE server environment 

D. intranet environment where client components are standardized 

Correct Answer: D 

 

QUESTION 3

Which package contains classes used to create data collections, such as maps or queues? 

A. java.lang 
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B. java.io 

C. java.awt 

D. java.net 

E. javax.swing 

F. java.util 

Correct Answer: F 

 

QUESTION 4

Which is a benefit of Swing clients? 

A. They can be used without a JRE on the client. 

B. They are more universally supported by browsers than thin clients. 

C. They can provide a richer graphical user interface experience than thin clients. 

D. They are easier to deploy than thin clients. 

Correct Answer: C 

 

QUESTION 5

You need an algorithm that must: 

Print the characters of a String, in index order Skip all instances of the character \\'a\\' that appear in the String 

Given: 

2.

 public void foo (String s) { 

3.

 // insert code here 

4.

 } 

Which two, inserted independently at line 3, correctly implement the algorithm? (Choose two.) 

A. int i = 0;while (i 

B. for(char c:s) {if (c != \\'a\\') System.out.print(c);} 

C. for(int i = 0; i 
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D. for (int i = 0; i 

E. int i = 0;while (i 

Correct Answer: CE 

 

QUESTION 6

Which two are true about the java and javac commands? (Choose two.) 

A. java -classpath lets you specify one or more directories to be used by the JVM to locate class files. 

B. java -version will print the version of the JVM. 

C. java -classpath will print the classpath used by the JVM. 

D. javac -version will print the OS version for the machine on which the JDK is installed. 

E. javac -D lets you specify the destination directory for the compiled class files. 

Correct Answer: AB 

 

QUESTION 7

You have developed a MIDlet that runs on a Java-enabled Personal Digital Assistant (PDA) device. Now, your employer
has asked you to port the MIDlet to run on other Java platforms. Which is true? 

A. The MIDlet is NOT guaranteed to run on a Java technology-enabled phone. 

B. The MIDlet can run within a standard web browser. 

C. The MIDlet is 100% portable across all J2ME devices. 

D. The MIDlet is guaranteed to run correctly under J2SE. 

Correct Answer: A 

 

QUESTION 8

Which four are primitive integer types in Java? (Choose four.) 

A. float 

B. long 

C. byte 

D. double 

E. int 
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F. short 

G. nibble 

Correct Answer: BCEF 

 

QUESTION 9

Click the Task button. 

Which is true? 

A. A is an instance of B. 

B. A extends B. 

C. A implements B. 

Latest 1Z0-850 Dumps | 1Z0-850 Practice Test | 1Z0-850 Exam Questions                                5 / 9

https://www.passapply.com/1Z0-850.html
https://www.passapply.com/1Z0-850.html
https://www.passapply.com/1Z0-850.html


https://www.passapply.com/1Z0-850.html
2021 Latest passapply 1Z0-850 PDF and VCE dumps Download

D. B extends A. 

E. This is NOT valid UML notation. 

F. B implements A. 

G. B is an instance of A. 

Correct Answer: C 

 

QUESTION 10

Given: 

14.

 class Dog { 

15.

 String name; 

16.

 public static void main(String [] args) { 

17.

 Dog d1 = new Dog(); 

18.

 Dog d2 = new Dog(); 

19.

 d1.name = "Aiko"; 

20.

 d2.name = "Aiko"; 

21.

 if (d1 == d2) System.out.print("== "); 

22.

 if (d1.equals(d2)) System.out.println("dot ="); 

23.

 } 

24.

Latest 1Z0-850 Dumps | 1Z0-850 Practice Test | 1Z0-850 Exam Questions                                6 / 9

https://www.passapply.com/1Z0-850.html
https://www.passapply.com/1Z0-850.html
https://www.passapply.com/1Z0-850.html


https://www.passapply.com/1Z0-850.html
2021 Latest passapply 1Z0-850 PDF and VCE dumps Download

 } 

What is the result? 

A. == dot = 

B. Compilation fails. 

C. dot = 

D. No output is produced. 

E. == 

F. The result is unpredictable. 

Correct Answer: D 

 

QUESTION 11

Given concrete class B is a subclass of concrete class A, and class A implements interface C, which two are examples
of polymorphism? (Choose two.) 

A. use a reference variable of type C to refer to an instance of type B 

B. use a reference variable of type A to refer to an instance of type C 

C. use a reference variable of type C to refer to an instance of type A 

D. use a reference variable of type A to refer to an instance of type B 

E. use a reference variable of type B to refer to an instance of type A 

Correct Answer: AC 

 

QUESTION 12

Click the Exhibit button. Which class correctly implements the interface Flyer? 
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A. Penguin 

B. Helicopter 

C. Airplane 

D. Lark 

Correct Answer: C 
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